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packet switched network and its various
(10 Marks)
(10 Marks)
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Note: Answer any FIVE full questiotts, ilibosing ONE faT ques]!9y.,iom each module.

'",liloa,.tu-t .'

I a. What is Physical Topology? With a neat diagram, explain the various types of physical
topologies available in conrputei networks. (10 Marks)

b. With a neat diagram, explain the significance of layers in TCP/IP protocol suite. (10 Marks)

Time:3 hrs.

2a.
b.
c.

OR
Explain LAN and WAN with the help of neat diagrams.
With a neat diagram, explain the five components ofData Communication.

bandwidth. Find the throughput if th'e system produces
(, 1000 frames per second (ii) 500 frames per second

b. Explain'CSMA/CAprotocol with a flow diagram.
c. Explain the Ethernet Frame format of standard Ethemet.

(06 Marks)
(06 Marks)

Explain encapsulation and decapsulation in TCP/IP model with the help of a 
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',,Eiplain with a neatdia,gram, the

b. With a neat diagram explain IPv4 D6tagram format.
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OR
Explain with an example, the Distance Vector Routing algorithm.
Explain with an example, Link State Routing and also apply Dijkstra algorithm
cost path tree.

Module-4
a. Explain connectionlebs and connection oriented protocols in transport layer.

b. With a neat diagram, explain state transition diagram of TCP.

I of2

(10 Marks)
to find least

(10 Marks)

(10 Marks)
(10 Marks)
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"' ''Module-23 a. What is an ARP? Explain the operation of ARP ,#ld'.its packet foqnat with suitable

diagrams. (10 Marks)
b. Explain stop and wait protoobl with a neat FSM diagram. Also explair*,how sequence and

acknowledge numbers prevent duplication of &amei with necessary dia$rams. (10 Marks)
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4 a. A slotted ALOHA network transmits 200 bit frames using a shared channel with a 200 kbps
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a. Explain Go-Back-N pretocol along with sliding windfruffiagrams. (10 Marks)

10

il Efiiltri TCp connecrion W,Uliuhi"nt using ttg!1[mrand shaking.
; %:nE

(10 M*rks)

Explain World Wide Webrand \[&b docqffirer,fith nec.essary diagraffi""* (10 Marfts)

nxflain the Architecture of Elec$onic mffiith a neat diagram. *ryF " (10 Mart<s)

,fts**

; ipR",€a. Explainwith an example, the wg&@fHlperText Trans$dHd'flocol.a. Explain with an example, the wgffibf Hyper Text-Transfer'Rofrbcol. (10 Marks)

b. What is N"*"-"iJr,,"r'*r"ffi*wr,n'a neat diagram;i'*ftui, tn" various types of
resolutisnthatare'available.e "$P' (l0Marks)
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